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i e 80(24) 106(32) 378,940 11,870
SHLtO| AFA19BL 13, 06 16,06 74(23) 98(30) 293,350 9,796
(LH) 821) ' 84(26) 111(34) 331,790 9,760
ShLbO| AFA22BL 13. 10 74(23) 99(30) 388,000 13,128
iy '16. 04
(SHEELFI) 808) 84(26) 112(34) 438,000 12,947
SHLtO] AFA3OBL 13, 10 74(23) 97(30) 386,500 12,792
Ay s '16. 04
(CHFE2X|2) (1,188) 84(26) 111(34) 436,000 12,808

LIO|A}AL9, A22, A302E 3.3m' S 2O/} 11,870K S (600|5} 11,870 S x 95%)S
I 7| X7tHo 2 e

[

D BUHSH 7| A1 x 0%(AMHEE) x (L+FH7L2 ASE 1.5%)13

SEHX(m e SRR
51(16) 72(22) 11,277 245,000 267,580 109%
59(18) 82(25) 11,277 280,000 305,810 109%
74(23) 103(31) 11,870 370,000 404,110 109%
84(26) 116(35) 11,870 417,000 455,440 109%

X (728) 245,0008 8] = 72.07m2(Z 2 HX)/3.3058x 11,2778 2 (3.3m? 7)) x95%(Z2 HE 72, 828 0j|2 M)

- o




HMZ-7 A (HE)

=

SHLHO|AFAL2 '13. 10 15 07 74(23) 264,180 8,864
(2=h) 84(26) 285,600 8,459
SHLIO|AALG '13. 10 ot 51(16) 225,420 10,082
(=) 59(18) 243,670 9,437

A M| CHH|

72(22) 170,000 46,368 478 103,781 46,300 470 102,700 60%
82(25) 8,400 200,000 57,387 538 121,990 57,300 530 120,900 60%
103(31) 260,000 84,745 771 177,231 84,700 770 177,100 68%
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116(35) 420 231 4420 63,000 163,600 420 214,000 74% 290,000
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+ 60 ~85m 7.5 QF (F3.7%)

A2 YiESE U 7IS8XE Mt YS F 4.1% X410
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oA 84(26) 110(33) 362,331 10,805
ZEI2X| 3 A102BL 13.03 15.09 84(26) 113(34) 376,695 10,925
(SEIZATCEA (874) ' 84(26) 113(34) 367,450 10,706
EE2X| 3 A21BL 12.11 1510 84(26) 110(33) 369,300 11,069
(SEHZO ) (1,817) ' 84(26) 111(34) 366,700 10,827
s 84(26) 108(33) 352,900 10,732
SEl2X| L A22BL 12.08 .
(SurH| 2] 2) (1.002) 15.03 84(26) 109(33) 359,400 10,899
84(26) 109(33) 344,400 10,434
SER2X| 3 A16BL 12.11 ,
15.01 84(26 110(33 361,800 10,620
(HEa| %) (656) (26) (33)

SUHS 7| A7} A 1 SE2X|T AL, A21, A22, ALO2SE BT £U7LA 10,800 S BN 7| x7tHoz M
ST 3 7} HOPHSH 7| X717 x 0%(AMHEE) x (1+5H712 A E 1.5%)1
LS SR 3Bmec: [ CIeTeS e
m?, (m2 ) GE] (H21)
74(22) 97(29) 10,800 318,000 347,000 109%
84(25) 110(33) 10,800 360,000 393,000 109%

¥ (97%H)318,000H ¥ = 97.43m?(Z2H=X) /3.3058 x 10,8008 & (3.3m?})
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